kIR EE 2815751

+ EATESR THRMITITE
& VAR

50
60(1€)x50(3E)
281-060-02 281-060-02 281-060-01
20° 20° B mm
] K704 ] K704
@ RIFFLD3/8" @ FHF7LD3/8"
HEREDS HEREDS
20°
= W = =
| =) N ) N
/R ‘i i
= 1 Y © 1L © L
, Slapee | g (- 3 (o
= @14 214
ﬁmxfzggs u“?, & §
U]_ g10 i 212 @20 @20
@12
M8X1.25 316
» M8X1.25
M10X1.25 M10X1.25
L _A
iz 8 | &F
) [To} [Tol
1] iz 1 (&7
9 ] @ r | ; | 5
50 50
B0(H)x50(5E) 60(1)x50(3E) 75(1)x50(3) M7(H)x50(3)
281-060-01 281-080-01 281-100-01 281-130-01

281-060-01 @8mm, 34mm, 3/8" 60kgf i
281-060-02 @8mm, @4mm, 3/8" 60kgf NI
281-080-01 @8mm, @4mm, 3/8" 80kgf iR
281-100-01 @8mm, @4mm, 3/8" 100kgf i

*NEW | 281-130-01 @8mm, @4mm, 3/8" 130kgf HI




